12.2/12.3 Surface Areas of Prisms, Cylinders, Pyramids and Cones
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Lateral of a Prism

L.A.=Ph

Surface Area of a Prism
S.A.= Ph + 2(Base Area)

Lateral Area of a Cylinder

L. A.=2nrnrh

Surface Area of a Cylinder.
S.A.=2nrh + 2nr?
Lateral Area of a Regular Pyramid
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Surface Area of a Regular Pyramid

Pl
S A= E— + Base Area

Lateral Area of a Cone
LA =nrl

Surface Area of a Cone
S.A.=mrl+ nr?
Surface Area of a Sphere

S A = 4mrt

Find the lateral ares and sarface area of each prisim.
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12. 2/12.3 Surface Areas of Prisms, Cylinders, Pyramids and Cones
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Lateral Area of a P-!'iSm Find the lateral ares of the prism. Round to the 'ﬂ_, 7 g4, ' ‘5
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nearest tenth.
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| Surface Area of a Prism Find the surface area of the fettangui ar

|S.A=LA+2B
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‘Lateral Area of a Cvlmder Find the lateral area of the

cylinder. Round to the nearest tenth.

L.A.=2nrh
=5 16 o - Lﬂ 271‘(75)(1 5') -
s B L e
[4—;?' Sj ,‘ 18 wmm W__wm_ﬁ, md

Surface Area of a Cylinder Find the surface area of the
cylinder. Round to the aearest tenth.

S A=0L.A +2mr?
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Lateral Area of a Regular Pyramid

I Find the lateral area of the square pyramid.
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Surface Area of a Regular Pyramid

_ Find the surface area of the square pyzamid to the nearesi tenth
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Lateral Area of a Cone Find the lateral area.
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Surface Area of a Cone

Find the surface arex of a cone with a diameter

S A=L.A. +71'T'2 af 14.8 centimeters and a slant height of
15 centimeters.
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